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How well your data fit your model

“Pgsterigr” “LikelihOOd;’

i ‘,
The question you ” "Z
always wanted to test Marginal

Likelihood”

Evidence

P(Theory | Data)
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Normal Logistic, Bernoulli

Poisson

~N(u, 09 ~B(1,p) ~Pois(%)
Beta
Your theoretical constructs ol ~Beta(, )
~B(n, p)
21 22
P( Data | Theory )
How well your data fit your model
= s 9
“Likelihood
Theory )

“Marginal

= = 9
Likelihood

Evidence
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P( Data)
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Bayes Factor
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37 38
FBAACYTEOSR Interpretation
<1 No functional difference between models
1-3 “Not worth more than a bare mention”
3-10 Positive evidence in favour of model with smaller BIC
10 - 30 Strong evidence in favour of model with smaller BIC
30 - 100 Very strong evidence in favour of model with smaller BIC
> 100 Decisive evidence in favour of model with smaller BIC
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